The following are examples of syntax to obtain various sub-samples of 2000 wave of NC1030 National Family Business Study. May 8, 2009.

** In this syntax we go from n of 553 to n of 421 to n of 325 to n of 311 to n of 301 in 2000. For couple analysis we go from n of 194 to n of 187 in 2000.

*Filter to get n of 553 followed in 2000 from n of 708 in 1997.

USE ALL.

COMPUTE filter_$=(Coms9700 >= 1 & Coms9700 <= 4).

VARIABLE LABEL filter_$ ‘Coms9700 >= 1 & Coms9700 <= 4 (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

*Filter to get n of 421 in 2000, which are those business managers still involved in the same business that is open (without complete information).

USE ALL.

COMPUTE filter_$=(Coms9700 >= 1 & Coms9700 <= 4 & Openbu00=1 & Manbs00=1). 

VARIABLE LABEL filter_$ ‘Coms9700 >= 1 & Coms9700 <= 4 & Openbu00=1 & Manbs00=1) (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

* n of 325 in 2000 where.

*filter to get n of 553 and other variables to get to n of 325 business managers still managing same open business with complete information.

USE ALL.

COMPUTE filter_$=(coms9700 >= 1 & coms9700 <= 4 & openbu00=1 & manbs00=1 & finals00=1).
VARIABLE LABEL filter_$ ‘coms9700 >= 1 & coms9700 <= 4 & openbu00=1 & manbs00=1 & finals00=1) (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

*filter to get n of 311 cases in 2000 where complete info & bus still open and managed by same business managers and has HM info.

* Difference between 325 and 311 is that there are 14 BM only data included in 325.

USE ALL.

COMPUTE filter_$=(coms9700 >= 1 & coms9700 < 4 & openbu00=1 & manbs00=1 & finals00=1).
VARIABLE LABEL filter_$ ‘coms9700 >= 1 & coms9700 < 4 & openbu00=1 & manbs00=1 & finals00=1) (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

* n of 301 in 2000.

* filter to get n of 553 and other variables to get to n of 301 business managers of family businesses.

*definition of a family business per JBR paper using 5 criteria: uses b5-considers themselves a FB, famdec-fam mem as major dec ma, fworkers-have fam mem working in bus, contown-continued fam ownership likely, and famown-more than 1 owner who is a fam member.

*The variables mentioned just above come from the disaster check syntax that was shared with NC1030 members in the past.  With the new merged codebook and new variable names, those variables will need to be reconstructed with new variable names in order to use this syntax.

USE ALL.

COMPUTE filter_$=(Coms9700 >= 1 & Coms9700 <= 4 & Openbu00=1 & Manbs00=1 & Finals00=1). 

VARIABLE LABEL filter_$ ‘Coms9700 >= 1 & Coms9700 <= 4 (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

Compute group =1.

If any

(id1,526,653,1651,3261,4308,4370,4882,5329,5371,6726,6766,7395,8724,8918,9058,9247,9924,11096,11114,11523,11524,11884,12010,13237) group=0.

Select if (group eq 1).

* adding newcas00=2 to filter to get from n of 194 to n of 187 for couples analysis in 2000 with complete information.

USE ALL.

COMPUTE filter_$=( Manbs00=1 & Coms9700 = 1 & Finals00=1 & newcas00= 2). 

VARIABLE LABEL filter_$ ‘Coms9700 = 1 & Manbs00=1 & Finals00=1 & newcas00= 2 (FILTER)’.

VALUE LABELS filter_$ 0 ‘Not Selected’ 1 ‘Selected’.

FORMAT filter_$ (f1.0).

FILTER BY filter_$.

EXECUTE.

